Bihar Board Class 8 Maths Solutions Chapter 2 Ud TR
qra ¥fa® gHieRn

Bihar Board Class 8 Maths T R dTdl ¥a® JHIHUT Ex 2.1

UH 1.
3(x-3)=15
IR
3x-3)=15
3x—9=15
3x=15+9
3x =24

X =243
x=38

U4 2.

X2 —7=15

3R

X2 —7=15
X—142 = 15
X—14=15x2=30
X—14 =30
X=130+14

X =44

U 3.

—-2xX7+2=8

3

—-2X+147 =8
-2X+14 =8 x7=56
-2X + 14 = 56

-2x = 56 — 14

-2X = 42

-X = 422

X =-21

UH 4.
7—3x =18
Jr
7—-3x=18
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-3x=18 -7
-3x =11
X =-113

UH 5.

18 =40 — 3x
3R

18 — 40 =-3x
-22 = -3X

X = 223

U4 6.
256 — 9y = 11

UH 7.
2.4=X2.5—-1
3R

2.4 = X—2.52.5
2.4%X25=X—2.5
6=x-—2.5
6+25=X
x=8.5

U4 8.
3X+10—-X=0
3R
3X+10—-X=0
3X — X = -10
2X = -10
X=-5

U o.

2(x +114) = 13
IR

2(4x+114) = 13
2(4x+11) =13 x 4
8x + 22 =52
8x=52—-22

8x =30

X =308

X =154

25
Oy=11-—
' 6

_ 66 -25
6

61 41

-y = -

6 6
3 1

o

6 -
41

54

= —9_‘}-‘
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U4 10.
x3+(-143)=37

Bihar Board Class 8 Maths U % dTdl @& JHIHT Ex 2.2

UH 1.

Tfe; forlt T & MY 7 14 T ST & 18 UTWd Bdl & | TR&T JTd SIfoTg |
3R

A6 9. = x

dl TR,

U 2.

Hﬁgﬁ&ﬁqﬂﬁwﬁéﬁiiﬁtﬂﬁﬁ&mﬂﬁ.ﬁéﬁ?qﬁmﬁ 110 HY. B Il IS U9 SIS
T dR|

IR

AT b 31ad & TS = x

AT B ST = y

Y3,

X=Y) =5 ... (D)

X +y=1102 =55 ........ (i)
309, (i) TT (ii) 9,

X+y =55

X-y=5
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X =30
M9,
X+y=55
3Xx+y=55
y=55—30=25 4
G{FqﬁﬁFIWIEC:x:gom.

3T P ST = y = 25 cm. T i

U4 3.
TP A H o5 Tfamd Bl G TR R 3w 1 o R w1 32 3.8 -
UR™ T -t 1 e i form. o ot

I
%ﬁ:ﬁﬁa?ﬁ:lﬂ13p=32
T &1 Ugd i1 1 Jed = 100

To = 32x100125=3200125 = 25.60

1
4

1
s
|
1]

-2
-
1

Iod | ==

U4 4.

3l faft geaarelt 35 FaH! &1 $d Jod 60 . 81 Tfe 1 T Had &1 I
1.50 3. Td 1 AR HaH BT Yo 2 T. § ol b He' N Had
LeRIARIERS

3R

a1 o 7l HaH| & Ho = x

AT Q&I S BT = 60 — 2x

TATINIR,

1.5 (60 — 2x) + 2x = 60

90 — 3X + 2X = 60

-X =60 — 90

-X = -30

X =30

A1t HH! b1 To = 302 = 15

TUT I HAHI D1 9. = 30015 = 20

UA 5.

TH AYST F A B0 2 : 3 : 5P U H g dl S il BT 1d Biford |
[SsRd

IYST & oIl DI 6T AT = 180°

THIRR,

2X + 3X + 5x = 180

10x = 180

x =18

- -
H li

= td]|—= I = pa]—
=
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AYS BT UYH HI0T = 2x = 18 x 2 = 36°
AYS BT GIRT DI = 3x = 18 x 3 = 54°
AU BT ARRT BIT = 5% = 18 x 5 = 90°

UH 6.

A P TN 13. Td 5 9. & $d 160 5% & oFdw1 $a I
310 %. 81 TS 2 %. I i} 31 T 5 %. & Rigep 1 G-
DI T 81 T 1 9. & Raad! Bt AWAT = 40 8 Al IUH U TAD THR & fha- Riad g2
3R

a1 s T 5. & Rigd] @1 To = 40

55.%%33%@@0 =X

2 3. P [Iadh] Bl GBAT = 3x

SIRCEEH

40 + X + 3X = 160

40 + 4x =160

4X =160 — 40 = 120

X =30

53 HREPI DI Y. =x =30

2%, P RIgHI BT = 3x = 90

13, o Ra®! I Ho = 4x = 40

$d R4a®] 1 o = 160

PdHe =30 x5 =150

00 x 3 =120

40 X1 =40

$dHo =310

YA 7.

fOar 3 3o 9 AT & s 3o YUy ST SeaRT1: 2 : 3 % 3T H BT § 3R U4 forg
100000 T. TTAT ¢ | TG ITD! F TURT 2.5 ARG T. B &1 Al UAD T B TR & &0 H 1
fier?

3R

Oar &1 o AUl = 2.5 A

fOraT 30 forg 1 Re To AT B

O = 3= o=t A Sfed W W 2.5 - 1.0 = 1.5
SEREIE SIS

X+ 2X + 3x = 1.5 A9

6x = 1500000

X = 25000

fOdT = 3191 9y I &1 fdU x = 25000
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fordr = 3ot fgadia T &1 fqT 2x = 2 x 25000 = 50000
T = 31Ut fgdig Ia &1 iU 2x = 2 x 25000 = 50000
fOdT = 31U i1 IdH &1 QT = 3x = 25000 x 3 = 75000

U 8.
11 % TR I T[UTST BT TNT 231 8 Al 3 I DI
I

M1 fob 11 BT UG O = x

feda U =x + 1

JaA O = x + 2

PEIGRICS

11 xx+11(x+1) +11(x +2) =231

11X + 11X + 11 + 11X + 22 = 231

33x+33 =231

33x=231—-33

33x =198

xX=6

Uedl U = 11x =11 X 6 = 66
MN=11x+1)=11(6+1) =11 x 7 =77

Al U = 11(x + 2) = 11(6 + 2) = 11 x 8 = 88

UH 9.

Thdl THTEH g 110, B H SIS 91 O § Ul

oo 81 @1 2 HaH T4 faoidr &1 Sred I gt

gyl &1 1+ sad fgar i afd 100 BF1 & &9 120 HaH o T 1 fasidrsii & IB 3
CHISIY!

IR
fasrarefi @1 fGT T HaHi ®f To = ox
IR faenffal &1 fau U Hawi &1 Jo = x
2X + X =120

3X = 120

X =40

fardraii @t To = 2x = 40

X =20

U% 10.

*fd & fOrdT &1 adH 39 3fd o a0 39 & [ U 5 a9 Sifb 51 5 T8 a1a I IHT BT AN 47
Y BRI S 1 IdHH IY J1d HIFTT|

IR

A fe AT P IU = x

U1 39 = 3X+5

Uy 3,
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X+5+3X+5+5=47
4X +15 =47

4X =47 —15=32
x=8

NEEIRL Y.

ﬁmaﬁa?quGH=3x+5=3x8+5=24+5=29

Bihar Board Class 8 Maths €& dX arel 3f@® THIHT Ex 2.3

Rufafaa afiezor o1 gd 31d B

U4 1.
7—-6X9X=115
IR
7—-6x9x=115

15 (7 — 6x) = 9x
105 — 90X = 9Xx
105 = 9X + 90X
105 = 9Ox

X = 3533

UH 2.
724=7+159
3R
724=7+159

9z = 4(z + 15)
9z = 47 + 60
9z — 47 = 60
5z = 60
Z=12

U4 3.
x2—-(x—2)*=32
IR

x? = (x* —4x +4) =32
X2—x2+4xXx—4=32
4X—4 =32
4X=32+4

4x = 36

X=9
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UH 4.

(x+4)*-(x-5)2=9

3R

(x+4)*-(x-5)2=9

X2 +8x+16—(x2—10x+25)=9
18x—-9=9

18x=9+9

18x =18

X=1

U4 5.
y+3)y-3)-y(y+5)=6
y+3)y-3)—-yly+5)=6
y2—-6y+9—-y2—-5y=6
-1y =6 -9

_11y=-3

y =311

UH 6.

UH 7.

U4 8.

0.3+0.7XX = 0.95
3R

0.3+0.7XX = 0.95
0.3 + 0.7X = 0.95 X X
0.3 + 0.7X = 0.95X
0.3 = 0.95X — 0.7X
0.3 = 0.25X

X=12

U4 o.
15(2-x)-5(x+6)1-3x=6
3R
15(2-x)-5(x+6)1-3x=6

o,

o,

U,
o,

Sx=4_, . 3x+10

-

S5y-4 i v+ 10 SR

6
2(5x—-4)+3(3x_10)

5 =4xv+]
Sx=-4+9v+30 =06(dv+ 1)
l4v+26 =244+ 0
4y - 24y =6-20

=10y =-20

20
e

T Tl
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15(2 = x) = 5(x + 6) = 6(1 — 3x)

30— 15X — 5X— 30 = 6 — 18x 4y+1+2_r—1_3y~‘.-'=£
-20x = 6 —18x 3 2 5 10
-20Xx +18x =6
-2x=6
X=-3 4}'+]+2y-1_3y-'?=£
3 2 5 10
% 10.
Eﬁe}?ﬁaﬁ T 1 G883, Ihls 3D Bl POkl 0
: % : g 50 10

T 81 afe sfd geq fad S ot v e
Td G/ Y 36 HH 1 e & | I8 TWRe 71 o W@y +D+152y=-D-6Gy-7) _ 47
BT ‘ 30 10
SN 40y+10+3y—15-18y-42 47

. & _ -4/
W%W?ﬂ%:x 30 10
TBTS BT 3P = 10 x 3x i
3 FEe fau S IR 3PTR BT 3 = 3x or, 40y + 30y~ 18y + 1042~ 15 = 30
GETS Bl 3 = x
TR o, 52y+37 =141

’ or, 52y =141-37

3X X 10 + X =10X X X + 3X + 36 52y =104
30X + X = 10X + 3X + 36
31X = 13X + 36 =~I-5%1=2
31X — 13X = 36
18x =36

X=2
SHR PI 3B x =2
3313;@3@:3X=3x2=6

FOMU 3B = 10 x 3x + X = 31X = 31 x 2 = 62

UHA 11.

T A1d YRT H1 fI= H U 9T J gXR 91 dh o | 9 & A § | 9RT Bt faudia fa=m & gt
& 10 B W QR Bl B 1 A URT 1 A1 1 fbeft. /uf et 81 o 2iid S o @ 1 =t v gl
°1e] & dild Bl gal ATd BT

IR

YRT &1 fG=TH A9 BT 1 = 9 km/h (w)

RT P! fauRid fa=M & =1e = 10 km/h (v)

I7id ST | 9@ 1 91 = (u + v) km/h = (10 + 9) km/h = 19 km/h
ﬁﬂﬁ%@ﬂﬁ@zzxvxuzzx1o><9:2o><9:180km.
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